SHIF4B1BERE BEHEFREEFRERAORVUHE

FH4F1 A1 BRE BETEREXFSRAORUHTE

g & B =i AR B | #HEHK M2 B A0 % AQ UN=l HEH

I\ ithig 6,323 6,645 12,968 5,430 2% |RAMEAN 2& |RABA| 26 |RABEA 2& |RABEA

AFNHbig 3,120 3,260 6,380 2,235 I\ ithig 6,231 102 6,557 84 12,788 186 5,393 144

B &bl 5,231 5,489 10,720 4,008 Kfihigk 3,092 37 3,244 13 6,336 50 2,222 48

=B 1,478 1,538 3,016 1,111 B S 5,192 66 5,450 78 10,642 144 4,013 132

K ilfi Hhig 1,923 1,972 3,895 1,348 = B ihig 1,474 10 1,517 11 2,991 21 1,110 20

B Fithis 771 790 1,561 557 Kt Hhig 1,916 13 1,950 33 3,866 46 1,342 35

15 ihis 808 846 1,654 704 B £ ih i 761 1 775 5 1,536 6 551 6

B EH2HE 19,654 20,540 40,194 15,393 15 ihig 782 21 819 28 1,601 49 683 46
MEmLHE 19,448 250 20,312 252 39,760 502 15,314 431
i (R A k) A 35 A9 A 30 AT A 65 A 16 A3 A16
HEREXSBRAQFNAEAERZSD.
Bt =i =1 HE
N SHELA (2 4) 287 283 570 505 fH4FE1A1BBE BLHTERERSERAORUVHEF(HEADH)

g B ZH | A0 B | HER

I\ ihig 6,129 6,473 12,602 5,249
AKFxhig 3,055 3,231 6,286 2,174
B Sithig 5,126 5,372 10,498 3,881
= B b g 1,464 1,506 2,970 1,090
Klfi high 1,903 1,917 3,820 1,307
BA = Bhigk 760 770 1,530 545
1 5 ih g 761 791 1,552 637
MEmLHE 19,198 [ 20,060 39,258 | 14,883
¥E (R A L) A 26 A 23 A49l A4




